T H T W HE o
Mo, of pagres o Baoklet E
gferst F et = wE

bio. of Quasions in Brokoe 0

RASCP) Ro g

T A
Question Prper BookleeNo. 4 113151

Subject Code — 00

BT sumIECT |
GE. & GS.

'SS

61 |

WO : 3.00 T
Time : 3.0 Hours

Fferwam 3t : 200
Moaximum Marks : 200

et 3 org ol )

INSTRUCTHONS FOR CANTHDATES -::

T T W AT ST

ol 9 F A A

W GE W ST 0 9 ffeT

T T MR S 8 o e E e 8 e e e A

WEP: WA % T Sewies T frd o foeE e 1, 0, 3,

ity fixier k1 st = it e Tl e o

B D T FOAT 90w R 99T TR U7 HiR e

Lo A S ETE R .

6. (IR 97 ™R TR THET YRAE F- 9% OW R 1 A
i i m W me L A S e e
T e < e U O A TR T |

T T ST O T ST s e 143 WP ST A T
TR AR ATHE T A T e & b # o
T T & 1 TR e B e s = e e
TR FFE W TA A |

& O gie T A O O et A wet o
mwwzﬂﬂ&mﬁmw@aﬂwﬂ
T qFeT S i b At 3 one o stk | ped
i} firen A A W A VIAOY O TR ) WM
Wnﬂmﬁfﬂlﬂmﬂﬂbﬂr

5. SEIEE W ST TSR 0w oiHT B § oum g
aim & | wy feeli sl & g et it ol wd
A

L0, ST ST T TR AR SR T WA R
WO | TR R A T A W TS S0 G A
A WIE ;W FETE

I L. =fe Tt w1 § Fed) o 3 HE Al s TR o
iz @ = mm & e T 20 e A O i e
TR @ |

el - s E e S w TE W § T 3R T

Y A ARG A f 3 weh & ey e A

AMIOE T W g R e F o sl

wmEit | E I S o afEer F B A B 9

AT TET W Tt W -

(O, PR TR iR

Anzwer ull quessions;

Al questions carmy equeal marks,

Only ome anawer is o be glven For sach goestion.

18 mare than ane anawers an: marked, il would be reaied 2

WTOEE ANEWEr,

Faeh question s Towr altermative responses marked serally

as I, X 3. & Yau Kave bo darken only one carcle or bahbils

Btwlicaling Uer comec answer om theAnswer Shest using BLUE

BALL PCHNTIPEMN.

G, Thi: QMM Angwr Shoct s imside thds Test Dooklet. When
wol e darilod [0 pun Lhe Test Booklel, tzke out the
Answer Sheet aied il o A pacticelars cansfully with bue
ball peanr e enly.

T V3 pard of the markis) of each guestlon will be
deducied for each wrong amwen (A wrong anseer means
o inGaredl Sswer +f more than one answers for any
ipeestian. Leavinp all the relevant circies or bubbles of any
tpessliun ik will 10t be comsidered as wrang answer}

B The camdldnte shonld cmyure thot Doesiisn Papor
Bookbet Moo of ihe {uestlon Paper Bookhel and Answer
Sheet wmust be sanve aller apeding the podythene ba
In eaee they are different, a candidaic mnss obealn
antgiber {uestien: Paper. Casdidnte himscll shall be
responsibie for enswring this

¥ Mubile Phone er any olker glectronic padget in e
crataliation hall | alrictly prohibieed, A candidare B
witli ary of 2uzh slyjectionable moterial wlm him#er will be
sitietly dealn as per rubes.

10. Pleass camrectly fill yoor Boll Member in O.M.E. Sheet,
5 Mhinrles van be deducled Far Rl wrosg of iskorupdane Fall
Muipiwe:

| 1. ¥ there i any soct of amshigwity'misinke gither of prisding or
frcaunl naturg then gue of Hirdi and Eogléish Version of the
yueslion, the English Version will be dreabsd as standard.

Warmireg & I u canliavaie & fosan! copping o JCauy meaiibaving

mutterin! [y e e histver memseeston, FELR wandd T fdped

amgriingd kingBer in e Poliee Sattem avd Sekbe noalb? Sabde n

Sr mrererined, Sepmament may wiso debor s pomiemernly

JSrom d.']'_,ﬁr.'ul'c'.:'.\'amfmf.'nui '

.L!"H.-I'r\'

.

oo o [(RNHWHRINT



https://www.recruitment.guru/

urdf T i SETRE S WA S o
T

(1) o e (2) R R
(3 Iz (4) HEE

wfets, =t WEA TR § W
U T W Ay
(1) R A

(2) R AT e

(3) Tewen s '

{4) BT wwE ;

TRaE % Frfaren RE A #
mmﬁﬁﬁﬁﬁﬁﬁﬁ}w:

{i) oTwE = antEEUs HRT

(i} HPHT T e  AiET

(iii) T W A Wt

{iv) STt = i Tty

'ﬁ?:

(1) () 3 (iv)

(2) (i), (i) 37 (iv)

{3y (i} # (iv)

(4) (i), (i), (idiy 3 i)

et & @ w9 W R o %

myEn e 7

(1) Tewmrog

(2) T g

(3} Fery Ferer st

(4} =

Frffan § & voeE S R odn W
T = e T

(1) witelt 2y Fergrar

(3 FFar 4) Py

T 1 S g e e e
(1} e (2) e

(3) W (4) wiEEEE
; ﬁﬂ‘i‘ﬂhﬁﬁﬁﬂ#mmqﬁhﬁ#?

T (v

N gx&uaﬁ:gﬁ — T
() iR - G
(3) T ~ T HHEA
(4) TEESEEA - W HEw

Tl

The ancient city which is mentioned in

thn: Mahabharata and Mahabhaslya bath
VYiratnagar { Bairath}

{2 Madbyamika (Nagar}

. %3 Raidh

Karkot
The inseription which proves I'J:le
influence of Bhagwat cult in ancient
Rajasthan is
(17 Ghadyala Inscription
{2y Besnagar Inscription of Heliodorous
{3} Buchkala Inscription
{4} Ghosundi Inseription

From the following temples of
Rajasthan ideniify the temples which.
were built in the Gurjar-Pratihar period ©
{i) Adivarah temple of Ahad

(i} Harshat Mata temple of Abhaneri
(iii) Meelkanth tcmple of Rajorgarh
{iv) Harihar temple of Clsian

Codes ;

(1) (i)and (iv)

(2) (i), (i) and (iv)

{3} (ii}and {iv)

(4 (i), i), (i) and (iv)

Whe amongst the following scholars
was notin the Court of Kumbha

(1} Tilla Bhatt

{2}  Muni Sunder Suri
13) Muni lin Vijay Suri
{4) Matha

With which of the following areas of
Rujasthan the Alibakshi Khayal is
associated T

{1} Kacauii (2} Chidawa

{3 Alwar (dh Chittor
Shankanys dance of Rajasthan is

related to ;
{1 Kalbeliye {2} Bhil
(3} Sahariyva {4} Terahtali

Which of the following puirs is

. comectly matched 7

MName Text (Music)
(1} Pundrik ¥itala - Raagmala
{2y Pandit — Sangeetra]
o, S
K umbha — Ragakelpadrum
4 E?ml Chand - Ragachandrika
lan -

oo
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13.

Which of the fallowing pair is not
comectly matched ¥

Feasant Leader
Movement
{1} Begun - Ram Maryan Chaudhary
{2} Bundi - MNaynu Ram Sharma

{3} Bijoliva- Vijay Singh Pathik
{4} Bikaner — Marottam Lal Joshi

What is the meaning of *Patta Rekh' in
the history of Rajasthan 7

{1} Expected revenoe

{2} Military tax

£3) Export=import tax

{4) Begar

Where was the Hesdquarer of
Shekhawati Bripade Jocated 7

(1) Sikar {2y Ihunjhunu
(3) Khetn {4} Fatehpur

Which one of the following newspapers
of pre-independence Rujasthan was not
the peornoter of Arye Surng] ideology 7
{1} Desh Hiteshi

{2} Janhitkarak

(3} Paropkarak

{4} Rajputena Gazohco

In which of the following area of

Rajasthan, “Gulabi  Gongaer™ s
welebrated on Chaitra Shukla Panchmi 7
(i) Muthdwara (2) Udaipur
{3} Bundi (43 Jodhpur
Match the following :
Institution Year of
Establishment
A, Rajasthan Seva Sangh 1. 1921
B. Desh Hitesh] Subha LI L)
C. All India State 3. 1877
People’s Conference
[ Chamber.of Princes 4 1919
Codes 3
A B C [B)
(1 4 3 2.1
@2 2 4 1 3
3 1 2 4 3
4 4 2 3 1
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Wheo amon e following was the first 1o
emphasize the need 1o establish scpaute
educational institution for the mlers of
the princely staies of Rajasthan 7

(11 Caolonel Lech (2) Lord Lansdowne
{3} Ceptain Walter {4} Lord Maye

early  work  of
Rajasthant literaire was written by

{11 Hemechandra (2} Asayit

{3} Sridhar Vyas {4) [sarday

Match List — 1 with List - 11 and sefect
the corroel answer using codes given
below :

List— I List— I
{Muopuntain Peak) . (Contincut)
AL Kosciusrka i. Europe
E. Mckinley i, Afica
C. Elbris fii. Australia
D. Kilimanjar v, Moith America
Codes ;

A L] < D
() i §Wioi i
oW v i i
(3) i @ v
4 i L [
[ acid rain, the min water and snow is

eotaminated by which  of  the
tollowing pollutants 7

{4} Snlphur-di-nxide
(B} Witrogen oxide
(Y Carbon-di-pide
(D} Methane

(13 (A (B} and (D)
(2) (A} (@) and (D)
{(3) Ouly (B) and (C)
{4} Only (A)and (B}
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Which of the following can be threats
Lo the hicdiversity of a region ?

(A) Global Warming

(B) Frapmentation ol habitat
(C) lnwasion of alien species
(0¥ Promotion of Yegetarianism
Select the cormect answer using code
given helow ;

Codes :

(13 (AL {B)and ()

(23 [(B)and (C})only

(33 (AYand (0¥

(43 (B}, [Cand (D)

Mateh List — I with List — 11 and select
the cormect answer using codes given
below

List—1 List— 11
(Industrial {Country)
Regions)
A, Lancashirz i, United States
Remon of America
- B. Rubr Region it.. Crermany
C. Keihin Region i, United
Eingdom
D Southern iv, Tapan
Appalachian
Fcgion
Codes :

A B C D
(13 i il i
(23 il i i
3y @ i v i
4y @i i i
Which of the following is not a correct
match 7

Pasges Loeation in State
{1y Bhipki e - Jammu & Kashmir
(23 JelepLa - Sikkim
(3Y BomDiLa = Amnachal Pradesh
{4y Maonaand - Uttarakhand

Matt
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P

23

Asgsertion (A) : Green Revolution has
resulted in the growth of food
graint production in India.

Reason (R)  : Repional disparities
ave aggravaied due to the preen
tevelution in Indi.

Codes :

(1) Both (A} and {R) src true and (R)
iz the comoet cxplanation of (4).
(33 Bodh {A) and {R) arc true but (R}
iz :!Im’r the comeet explonation of

(A

{418 true and (R} i false.

{47 35 [alse and (R} is true.

{5}
(4}

Which is the comect sequeénce of
followinge manginese producing States
of lndia in terms of high to low
production status in the year 2013-14 7

. (17 Madhya Pradesh, Odisha, Andhra

Pradesh and Kajasthan

Rayastham.  Odisha,  Madhya
Pradesh and Andhra Pradesh
Madhya Peadesh, Odisha,
Rajasthan and Andhra Pradesh
Odisha. Madhya Pradesh, Andhra
Pradesh and Rajasthan

(2}
3
(4)

i Arrange Lhe following cities [ocated on

Morth-South corridor in a sequence

. from North to South,
 Select the correct answer using code

- given below

A. Magpur B Agrm
., EKnshnagn . CGwalior
- Codes :

{1} B,C. Aand D

2} B.D,Aand C
3 DB Cand A

! Which

(4) AR DandC

of the following proups
represent  Lhe  comesl  sequence  of
mourlgin - peaks of Rajusthan  n
descending order of thedr heaght ?

(1) Delwara, Sajjangarh, Jarga, Taragarh
2} Ser, Jarga, Sajjanparh, Taragarh
(31 Javga, Ser, Sajjangarh, Taragarh
() Jarga, Delwara, Taragarly Sajjangach

a0



15.

26.

7.

28.

20,

3o,

e =t B gl et o awhafr

gt 5 wfnfwe e wr

(1) ey g

{2} SIFTERT #ie

() TrEee e

(4) \ET Hw

IO WO BT WeEr = e
TR e Tt

(1) fagmw 2011 (2) =ww9 2010
{3} = 2011 (4 w2010
IEE TER R SH W 9§ oA
e fafr el = 79 T e
Ele R LA E T P e s

(1) 2008 (23 2010

(3) 2012 (4 2014

= T ST §R e fer
Eints :
(1) EIRTE-HE
(2) rerrg.zis
(3) AEFFTTHEE
(4) AEATATREL
TR YT U
afr= W
(1) Foomm * ET
(2) T T — W

£3) wmE . ~ T

(4 FEm ~ i

TR 2010 F ORER TOREE &

WA e e = el st
© W W

(1) T, iz, FrgL, S
(2) WY, ST, e, A
{3) WU, IR, S, S
(4) S, S, Y, R

25,

16.

27,

28,

29,

Which of the following lakes of
Rajasthan has been ncluded in the Hat
of Ramsar wetlamd sites 7

{1} Jaisamard Lake
(2} Anasagar Lake
(3) Rajsamaund Lake
{4) Sambhar Lake

When d&id the Rajasthan
appraved first forest policy 7
(13 September 20£1

(23 August 2000

(3} March 2011

{4y February 2010

In which yew ihe Gu-vcnmem of
Rajasthan moade Rajasthan  Biological
Diversicy Rules and  cstablished  the

G,

Rajasthan State Biodiversity Bogrd ?
(L} 2008 (21 20
(3} 2012 (43 2014

" The pair of districts benefilting from

C‘h-mldharj.r Kumbhy Ram Canal iz
(1) Hanumangarh-Thunjhuma
(2} Bhilwara-Tonk

(3) Bikaner-Jedhpur

(4) Bammer-laisalmer

Identify the wrong pair !

Mineral Mine
{1} Gypsum — Palana
{2} Pink Marble — Babarmal
(3} Gamet — Rajmahal
(4)  Urantum — Kuradiya

Arrange the districls with maxsmuon
total population it Rajasthan  in
descending order as per Census 2011 -

(1) Jaipur, Kota, Jodhpur, Bikaner
{2) Jaipur, Jodhpur, Alwar, Nagaur
{3} Jaipur, Udaipur, Jodhpur, Bikaner
{4) Jaipur, Bikaner, Jodhpur, Udaipur
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33,

34.

35,

which of the [bllowing two disiricts of
Rajosthan  are  heving  lowest
percentage ol scheduled tibes to total
population in 2011 7

{1) Chure and Sikar

{3 Ganganagar and Hanumangarh
{3) Bikaner and Magaur

(4} Bhatatpur and Dholpur

Amange the following districts of

Rajasthen in corvect order from East to
Weal !

A, Bundi B. Ajmer
€. Udaipur 0. Magaur
() A, B, CD {2) BACD

{3) A.B.D,C (4} A C.B.D

The mines of Janakpura and Sarwar
are known for the production af

{1} Emcrmald {2) Gaomet
(3} DPyrite (4] Baryles
Watch List — 1 with List — [1 and select the
comect answer using the codes given below
List -1 List-11 |
{Wildlife Conservation (District)
Reserve)
A, Jorbeed Gadhewal 1. Jhenjhunu
B. Gudha Vishnoi 2. Magaur
C. Gogelay 3, Jodhpur
D. Beed 4. Bikaner
Codes :
4 B C D
y 4 3 1 2
M 4 3 2 1
3 1 3 4 2
4 1 2 3 4

Congider the following statements :

A, Avavalli restricts  the. eastward
expansion of desert.

B. Al the rnvers of Rajasthan have
their origin from Aravall,

C. Distributional pattern of rainfall in
Rajasthan 1= not affected by Aravalh.

B, Aravalli region iz rich in metallic
iminerais.

Sefect the correct answer using code

piven below !

Codes : .

(1) A, B and C are comeet,

(2) B, Cand I are correct,

{3) Omly C and I3 are correct. -

(4) Omly A and I3 are comece,
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40.

Identify the incorrect statement ahout
Government of India Act 1919 -

{1} The Government of Tndia Act
1912 came into force in 1921,

(2] This Actis also known as Mnﬂey
Minte Reforms Act.

{3} Montagu was the Sceretary of State

for India and Lord Chelmsford was
the Viceroy of Indie.

{4 Thiz Act separsted the Central
and Provinecial subjects.

One of the following statements is

incomect. Point oug ¢

(1) The State of Bombay was split up
inte Gujarat and Maharashera,

(2} State of Mysore was renamed as
Tamil Nadu

(3} Himachal Pradesh was previously
in the list of Union Territories,

(4) Gos was =eparated from Daman
and Diu.

When were the Fundemental Duties
incomporated in the Constitution ?

(1 In 1975

(2) In 1978

(3) Iln 1978

4 o 1979

The tenure of Central Information
Cormmissioner is

1) 3 years or 62 years of age

(2) © years or 65 yvears of age

(3) 5 yearsor6s !.réam of age

(4) 6 years or 62 years ofage

Which one of the following legislative
house can be abolished 7

(1} Lok Sabha

{2) RajyaSabha

{3) Vidhan Parishad

(4) WVidhan Sabha
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In which of the following group of the

States, PRSA [Panchayals {Exiension

tor Scheduled Areas) Act], 1996 is not

enforceable ¥

{1y Assam-Meghalaya-Tami] Nadu

i Ra}ﬂsmun-Td:mglanﬂJv'IahawﬁhLm

{3} Himacha! Pradesh-Gujarsl-
Chhattisgarh

{4) Ansdhra Pradesh-Tharkhemd-
Chlisha

Amnn,g the fullowing whn:h group of

States/Union Tesritories have only one

seat in the Lok Sabha ?

{1} Armnuchal,  Pradesh,
Lakshadweep

(21 Goa, Meghalaya, Nagaland

(3] Chandisgarh, Sikkim. Mizorm

Sikkim,

(4} Manipur, Dadra and Magur
Havehi, Puducherry
Match List — L with List - I and select

the correct answer from (he codes

aiven below
List— I List — 1T

{a) Aboliion  of (i) Article29
titles

(h) Freedom to (1) Aricle 21 A
manage religious
affairs )

{£) Protection of (iii} Article 18
language of ¥
minorities

{dy Right to {iv]) Article 26
education

Codes :

(w) (&) e} (d)
(11 (@) (i) vy (0
(2} (iii) () () (iv)
(3 (iiy {iv) (i) (i)
4 (@} (W) (i) {f".

Onz amongst the following was not 2
galient fazture of the Governmenl of
India Act, 1935 ;

{1y It marked the bomnning of the
Provingial Autenomy.

(2} The Act provided fﬂr an All India
Federation.

(3 It aholished Digrchy af the
Provincial level and introduced 1t
at the Contre.

{4) Residuary subjecis were allocated
1o Frovinwal Legalaiunes,

oo
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ﬁﬁﬂi’rﬁqﬁﬁﬂ?ﬁﬁﬂiﬁmﬁﬁaﬁq

T 3 R T 7

(1) st whestt  (2) TRy aRe
(1) T T (4) HFRE Hem
TH A Bon S0 % anom 3 g
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(3) 202 (4 209t 1p
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B, e o e e o ;

C. Fedfir o e e

D. YAwFd T = |
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'ﬁ?:

(1) A.B.C 2y A CD
{3} B,C.D 4 AR D
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3l.

The procedure of Impeachment of the
President of India is

(1) Judicial Procedurs

12} Quasi-ludicial Pracedure

(3) Legislative Progedure

{4) Executive Procedure

How many times President’s ruie has
been iﬁnpnsed inn the State of Rajasthan

A0 30" N, 2016 9
{17 3 tmes {2} 3 times
{3) 6 timey {4} 4 times

Delimitation Commission of 1952 had
determined the strenpth of Rajasthan
Legislative Assembly as

() 200

) 160

{3} 1%

(47 Three MLAs for each district.

Betiore the appointment of Shri Kalvan
Bingh us the Govemor of Rajasthan
whe ameng the [llowing wes the
Actung Governor ol the State ?

(13 O.F. Kohli

(2} Rarm Maresh ¥Yaday

%3% Ram Maik

4) Murgarer Alva

An the following, whase tenure has
been the bos as the Chainman of
Rajasthan Public Service Cormemission 7
{Ef Mohamrad Yagqub

%2} Yaitindra Singh

31 .5, Tewari
(4 C.R. Choudhary

How many elected and Ex-Officio
members are there in District Planning

Committes ?
{1y 20 and 3 (2} 20and 3
(3) 20gand?2 {4) 20 and 10

The powers of Distrct Collector as g
Digirict Magistrate are -

A&, To maintain law and order

B. Contro] over police

C. To check passports of foreigners
D, To control land revenue

Select the correct answer from the

codes given helow -

Codes :

{1y AABC 2} A C.D
3} B, C.D 4) A.B.D
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TR o T FAa e

{1y =t v R &

(2y wt e foeafaeers W T d
T e Tl

(3} wedt T vl frelt Tompafomrl &

(4) = T ToafweE, = 4 o
S0 Tt T T & T
Frait Tt &

TR T R a%rna:rwgmm?

(1) 18 aiw, 2008 (2) 15 U, 2006
(33 18 37w, 2007 (4) 18 ;T 2005

'ﬂﬁrﬁaﬁ

T T T T s W e

T S R w5 g

{1} TSR W g wnh

(2) ARG H WEEERRE TR HEM
(196670}

() Tty weTECE T S

{4) TEEH i

o] T = -

gt awmn w1 ﬂﬁﬁin@?#ﬁf&@'ﬁﬂﬁ
W A A aE e e
A E

(1) wE A T & T % R

{2) A % T & g

(3} W Ty aw & T w

i EarE]
4y TEfuE Tl & fawior W
o % Tk e

oA few e ¥ i E a0 T,
2006 7% Tt aw favere woae wegm

BB ST S T U] g 7
(1) THaR (2) FEH
{3} dRan (4) wHT

12

Choose the correct answer :

Governor of Rajasthan is Chancellor of
{13 All State Universities.

{2 All State Universities and Ceniral
Universities in the Statc.

All Seate Universities as well as
Private Universities in the State,
All State Universities, the Ceatral
Universitics in the State and all
Private Uiniversitcs tn the State.

(3

(4)

When was Rajasthan  Intormation
Commission constituted 7
(1} Apel 18, 2008 (2) April 18, 2006

(3} April 18,2007 {4) April 18, 2005

Choose the cormect answer ©

The appointment of Lok Ayukta at the

state kevel was first recommended by

(1r ‘HRajasthan Stae Administralive
Reforms Commithee

{21 Administrative Reforms
Commisasion of India {1966-700

(3) Seeond Administrative Refonms
Corminission

{4) Santhanam Commilles

Chisise the cormeet altemative @

The Chairman of a Joint Public

Service Commission for twoe of more

States is appointed by

{1} The Govemor of the largest Swute

{2} The President of India

(3) A Commitier of Governors of all

the Siates concerned

The President of India on the

recommendation of the Governors
concemed

()

1ns the history of Rajusthan Legislatve
Assembly i1l 30% June, 2016, how
many times the confidence motion has
heen moved and discussed 7 :

{1} Once (2) Twice
(3% Thrice {4) Fourlimes
00
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S8.

Consider the following statements

regarding Bhamasha Yojane :

{i) With the consent of the family,
any woman of the family, who
fiaz attained the age of 21 vears,
may be declared s the head of the
farmily,

{if) First werificalion of Bhamashah
enrollment  is  done by the
Sarpeach of the concemned Gram
Panchayat.

(1} Only (i) iz comect,

(2] Omly (ii) is cormect,

(3) Both (i) ond {1i) are correct.

{4) Both (i} and (il) are incorreet.

Which one of the following statements
is true about Anuprab Yojana 7
(1) It iz a scheme to give finencial
heﬂp e Schedoled Caste gidl for
marTiage,
Itis a scheme o gve coaching for
" Scheduled Caste end Schedirled
Tribe students,
(3) It is a scheme to give financial
help o orphan  children of
Scheduled Caste,
It is o scheme o gve financial
mssistance  to .school  going
children of Scheduled Caste and
Scheduled Tribe,

(2}

4

Seleut the correct answer -

Statc  Election Comtnission of

Rajasthan

(1} a'statutory authority

{2} an executive avthority

(3} aconstitational putharity

(4) & unit of Election Comrmission of
indip

How many times elections have been

held for Panchavati Raj Instiutions in

Rajasthan till 2015 7

(1) 5 times

(3} 9 times

{Z) 8 times
(4 10 times
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6l.

B UL IV

lnflation rate based on consumar prive

index increases il

{1) Bank rate iz decreased

{2} Reverse repo rate is decreased

(3} Statuwory Liguidity ratio is
invreased

(4) Fepo mte is incroased

As per the Human Developmenl
Report 2015, consider the following
etatements ;

A, Indig ranks
couniries.

B. HDI is hased on the indices for
life expectancy, education and
PCL :

C, In compatison to other nations in
the BRICS, Indin has tho lowest
rank.

Which of the statements given above

isfare correct

{1y AandBonly {2} BandC only

(31 Bonly 4 A BandC

130 our of LEB

Unamployment and poverty estimates

in india are hased on

{1} N530 bouschold consumpuon
expenditure survey :

{2y €80 houvsehold
cxpenditure survey

{3} Plaoning Commission’s househald
consumpion experditure sutvey

() NSS0 family income survey

consumption

Copsider  the  following  important
sources of tay revence for the Central
Government in Tidia

L Union Excise Duly

11, Corporation Tax

1. teome Tax

IV, Service Tax

Which one of the following is the
vorreet descending order in terms of
Gress Tax Revenue ?

(1 LIL IV I (2 ILIV,E TN
{4y WL LI

L
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gtark 1

YIHH & =MR UeeE & e T e o @
F T A
(1) HNE W SR HgeE 1049.50 9
2015-16 T I U0 el % fow
W |
(2) 9RA W = e 104950 F
| 201516 T W HOW aafy & R
AT T |
ANT o WM Hge 1972-71 a0
197677 % =1 T} ®i Siga (7 e
YA A1) 1949-50 ® 2015-16 %
it wqot vt & fam s )
YR o SN W 197273 7
1976-77 % < wul & Srawt (vm w
FETWTR ) 1949-50 & 201516 7%
ot dyut sy & fw e |

(4}

e (PAHAL) T % e F it 3

P

(1) TE AW (JAM) I 0T TERE |

(2) o% S (DBT) & wew & Uedeh
(L.PG) 3 =5 W wt & |

(3) =% IniEme & d% @t o verdet
FTE T T T Fl |

(4 FwmiaaE

1951-52 ® 2015-16 % sy & frg o
# Fogr sl o 5w = o sl o
&t il w7 T 8

(1) 516 (2] 2010-F)
{3} 2007-0%. (41 2014-15

15

&3,

66.

a7,

Since 1997-98, which statement is
comect regarding Minimum  Support
Price (MSP) 7

{1} MSP=C2 costs

{2} MSP > C2 costs

(3) MEP <C2 costs

(4} MSP is independent to C2 cost,

Which of the following statements is
correct about the balanee of trade of
India ?
(1) India's trade balance remained
negative for the crrive period from
194050 to 20] 5-16,
India’s trade balance remained
positive for the entire period from
1949-50 to 2015-16,
India’s trade balonce romained
negative for the.cntire period from
1940-50 o 2015-16 except two
years FOT2-73 and 1976-77, when
it was positive.
India’s trade balance remained
positive for the entire period fram
o 1948-50 o 2005-16 except two
year 1972-73 and 1976-77, when
it was negative.

{2)

(3

(4}

Choose the correct answer in the
context of PAHAL acheme !

(1) Itis first variety of JAM.
(2) Ittransfers LPG subsidy via DBT,

{3) Tt directly transfers LPG subsidy
into customer’s bank accounts,

(4) Al these are true,

In which year the rate of growth of
India’s per capita income at comstant
prices was the highest during the
period 1931-52 to 2015-16 7

(1} 2013-16 (2 2010-11

(3} 2007-08 () 2014-15
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T G T A AT
(1) 198687

() 1999-2000

(31 200405

(4 2011-12

T W 2e deadE A § P,
oW U w49 F fr g % T
e Pt #

(1) 3.5% 8.0% HTL5%

(2) &.0%, B.O% FT9.0%

(1) 4.0%, 8.5% T 9.0%

(4} 3.5%, B.5% T 9.5%
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whemail & e & e F wE e

() 2011 # TeeE # RO TR
AT ST |
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(33 (i), (i) v (i) =t & |

() (i), (ifY, (@) 7 vy T8 E
R W MR TR e
i i e A o e S

1. foge i fme i

iL. E:ﬁﬁ T g R W
| :

ST FE 0 R A T w7

(1) TEnSHEmE

(2) 1= E

(3) HEm TR I |

(4) FAFTHITE 1

69.4‘

T,

TL

Tzl

‘The base vear for Rajasthan’s whole
zale Price Index iz -

(1} 98687

(2} 1900-2000

(3y 2004-05

(4) 2011-12

" The growth tarpets in the 12" Five

Year Plap of  Rajasthan  for
Apriculre, Industry and  Service
sectors are respectively

{1} 3.5%, 8.09 and 9.5%

{2} 409, 5.0% and 5.0%

(3) 4.0%, 8.5% and 9.0%

{4y 3.5%, 8.5% and 9.5%

Which of the following statements are
cosrect about sex ratio (number of
femaeles per 100 males) in Rajasthan
according to Census 2011 7

(i) Sex ratio in Rajasthan in 2011
was less than National average.

(i) Sex rado in ail Dhistricts of
Rajasthan in 2011 was less than
1000

{iii} Sex ratio in rural ateas of all
Driztricets of Eajasthan in 2011 was
less than 1000, cxespt Pali
District.

{iv} Sex mativ in urban arces of all
Districts of Rajasthan in 2011 was
legs than 1000, except Dhaulpur
Phstrict.

Sclect the comrect answer using codés

given below :

(11 Cnly (i) is comeot,

{2} (i) and (ii) arc comect.

{3) (i), £ii) and (iif) arc correct.

(4} {i), (ith, (1i7) and {iv) arc comecL.

Cunsider the fullowing statcmests

about Jalipa-¥apurdi thermal power

project of Rajasthan 7

l. ‘This power project is lignite
based, '

1L 1t has been installed by private
developer.

Which of the sbove statement isfare

cormect T

{13 Both | and II are comect,

(2] Bothland 11 are not cotrect.

(3]  Only statement | {5 comect.

(4} Only statement II is vorrect,

o0
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Which of the following external agency

i5 providing financial assistanes  for

Rajasthan Eenewable Energy

Transmission Investrment Program 7

{1} World Bank

{2} Japan International Co-operation
Agency (JICA)

{3} Asian Development Bank

(4} KFW Germany

HAYA BAVERMA iz

(1) a programme to de-sddict a1l the
Dol Post users

{2) a programme to de-addict alt the
tobaccd uvers

(3) a progmmme to de-addict all the
wing users

(4) All of these

Mukhya Mantrl Mizshulk Dava Yujana
it Rajesthan was taunched on

1y 2™ September, 2014
(2) 2™ September, 2010
3) 2™ Detober, 2011
{4 2™ October, 2010

The main festures of Bhemashah
Yojana are

{i) Bach family 15 issued a
Bhamashah card in the name of
the female hesd of the family.

(if) Bhamashah card is linked to the
. hank account of the lady,

(iii} Muiltiple cash benefits will be
irsmisferred to the bank acecoumts
of the beneficianes. .

(¥} All non-cash benefits will also be
eransferred 10 the bank accounts
of the beneficiaries.

Select cotréct answer using codes

given below :

(1) Owmnly (i) 18 correct.

(2y (i) and (i) are vorrect.

(3 {i), (ii) and (iii} are correct.

(4) (i} (i), (iii} and {iv) are correct.
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{3y 31

{2} 33
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TERGET W WA W, g A el
AT o g T 1 '

(1) =R 9 S e
(2} e e ) e

(3) e w9 & A w e
o

{4) TEE =T i R |

HFET =T T e
{1} CaCO, (2) Ca(OH),
(3} Na,CO, {4) MaHCO,

71-

20.

a1.

(3} NayCO,

MWame the scheme being implemented
in Rajasthan  uwnder which cash
incentive is given to SC/ST/SBC/BPL
of OBC & GEMN candidate selected in
the All India Civil Services
Examination, the State Civil Services
Exzamination and a condidate getting
admission in UTs, s and Naticnal
Level Medical Collewes.

11} Anuprat Yojuana

{(2) Scholarship Scheme
{3) Merit-cum-beans Scheme
(4} Upper Merit Scholarship

Medal Agency for goneration of

enargy from non-conventiomal energy

sources in Rajesthan is

(1) Rajasthan Renewable
Corporation Lid.

2} %hm: Ministry of Mew Renewable

Energy

METEY
{3} Centre for New and Renewable
Energy Sources
i4) Mone of these

How mamy District Industrics Centres
arc working in Rajasthan 7
(1) 36 (1 33
3 4) 29

One of the following is not the

ojective of Chiet Minister's Shubh

Laxmi Yojana in Rajasthan | ‘

{1} To promote the bicth of girl child

{2} To prevent child marriage

{3} To encoirage fcgiétation of girl
child birth

{4y To help pregnant girls

The chemical formula of baking soda
iz
(1) CaCOy, (2)- Ca{OH),

(4) NaHCO,
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(3) weEiw dw (4) v
Fyefiam w2 gaf =7 -
WEITuT U Lori o
() 9 Wew FF.3 A TEEE-i
{SLV-3)

(i) Hefan we wivor B, Ml
T (ASLYY

{ii)yE T wI O, SROSS-C
I {PELWY

v R T S D, EDUSAT
HETT T (GSLV)

FetAtEa 4 9 © g g £0

wE:
(i) (i) (i) (iv)

(It B © A D

2 A4 B © D

) € A B D

4 B C B A
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Phutovaltaic eeli is related to
(1} Solar Energy

{2} Nuclear Energy
(3) Wind Energy
(4) Geo Thermal Energy

The latest android mobile OeeTaring
system-6,0 s named as

(11 Kitkat {2} Marshmailow .
(3) Lollipop {#] Jelly Bean

Which district has become the first one
in India to get connected to the High
Speed Rural Broadband Network 7

(1} Bengaluru Distriet of Karmataka

{2} Vidisha District of Madhya Pradesh
(3} Tdukki District of Kerala

(4 Pune District of Maharashira

The Defence Research Development
Organisation (DRDO) has developed o
drug named, ‘Lukoskin®, It is being
usedd in the treatment of

(13} Leukemia {2) Levcoderma
{3} Lung Cancer ({4} Leukorrhea

Match the following pairs - ‘
Launeh Vehicie Satellite

(i} Satellite Launch A, Chandrayaan-1
Vehicle-3 {SLV-3}

(i} Augmented
Sgteflite  Launch
Vehicle (ASLY)

dii}Polar Satellite
Launch Vehicle
(PSLV)

[iv) Geosynchronous
Satellite Launch
Wehicle (GSLV)

Which of the following codes are

B. Rohini

C. SROS3.CC

[ EDUSAT

correctly matched 9
Codes ; 4

() (i) (D {iv)
iy B C A D
23 A B C D
3 € A B D
4 B L& D A



BY.

&9,

0.

Fpesfieriiae o & W H o A R
it =i A g e ot § 7
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(3) o uA O

(4) #é = o g

. Treifafas 4§ wvelrg SR HA 6 HE

for w8 T w0 A T $ w @ wH
HETE T

{1y W17 EEAR 0L

{2} T 1176

(3) THEH 1178

{4} D120 = g EEgeE

et T S T TR w0

A, T % Ta o Fefaa w9t e
TE |

B, ﬁﬂ%ﬁﬂ#&ﬁaﬂﬁmﬁm% I
¢ T O SuiEm T, WeRm HE
g@ard |

D, T TE OReE F FT A
#mE

(n ACH {2} A,B,D

3 A BC - 4y B,C, D

e wrdia o SreTAnEA ST I
A T w7 = il & wEd A A
e A [ - V] o R o g
T Y e T = A Wl
A TETERE

I e e

C. i fafmier

D. e

f".‘:

i1y ABC.D (3 DABC
3y A, D BC 4 D.ACB

87. Which among the: following is a

0.

nuclear powered submaring of indian
Mavy 7

(13 INS Shishumar

{2} NS Shalki

{33 NS Chakra

{4y INS Sindhuviv

Which of the following airerall iz an
air-to-gic refueller of the Indian Air
Force ?

(1) C-17 Globemaster 1

(2) yushin 1-76

{3} Ilyushin Ii-78

{4) C-130 ) Super Hercules

Which of the following staternents ane

comect ? '

A. Sugarcane juice is formented to.
form vinegar,

B. Vinegar has acetic acid,

C. Benzeic acid is the acid present in
Vinegar. '

D. Yincgaris used as & preservative,

()

A C.0 2y A BD
{3» A, B.C i4) B.C, D
Arrange the foblowing

products/examples of nanotechnology
in ascending order of the four
generations  of  nannotechnology
[1 — V] and select the correct answer
uging the codes given below

A, Aercsol

B. 3D networking

., Molecular manufacturing

D, Targezed drogs

Codes :
(1) ABCD 2} DLABC
(3 AD B C {4y DA, C,P.

oo
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fefriaT ¥ & =9 @ reeReEe

W{lummaﬂﬂiﬂzﬁmw
TR HITE 7 )

(1y o {2) ==

(3} T (4 =
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Eﬁgrftmﬁﬁfmﬁmm

ﬁﬂwwmﬂiﬁtﬁﬁﬂ?
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(1} ATa B (2) BUEC -
() A {4) A BUEC

& wEl @ FEY w8 9Ee ¥
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(1) dwifast (2) et

(3 FeifEm (4) stifrT

= FEHTIEE (CO,), gy ey
(N0, weiivepiEETs, (CFCs) 3
AT (CH,) o = e 2 i ok
Eﬂﬁﬁ.ﬁrﬁ'ﬁﬁ%

{1} CO,>CFCs>CH,>N,0

{2) CO,=CH,>CFCs > N,0

(3} €O, >CH,>N,0 > CFCs

{4) CO,=N,0=CH, > CFCs

mE g dE S € Wi e e
TR WA ﬁ?ﬁ(ﬂaﬁﬂﬁﬁ:m
Gl

(1 mﬁm&wysﬂfﬁ!ﬁg%ﬁn

{(2) e = g 2003 F 5 €

(%) = EEEE T

(4} HeEl = SRl % oewor @9

et g o |
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s,

Which among the following is the
richest source of alphe-linolenic acid
{13-carbon omepa-3 famty acid) ¥

(1) Mungbean  (2) (oth bean
(3) Flhaxsew] (4 Oats

Consider the following statements and

chaose the correct ones using the

codes miven below

A, The evr-savr tamato was the first
genetically  engincered  crop-
product 6o e commercialised.

B. Ripe frts of flave-savr remain
finm for longer duration and .can
be transported to market after
vine-ripening,

C. Ripe fruits -of flavesair have
colour but not the full amay of
vine ripsned-tomato flavours,

Codes

1) Aand B

{3} AandC

{2) BandC
(41 A, Band C

Calcium carhide is nsed for antificial
dpening of green fruits because |
produces

{1} Acetvlenc
{3} Flotigen

(2} Methylene
(41 Auxin

The relative contributiona of carbon
dioxide (CO,), nitrous oxide (N,0),
chlurflunrocarbons (CFCS) amed methane
{CM,) lewards global warming ane

(1) €O,>CHFCs> CH, > N,0

{2) CO,>CH,>CFCs>N,0

(3) €0, > CH, > N,O > CFCs

(4) CO,>N0=CH, =CFCs

Which of the facts about Dolly

{xhcep), the first mammal cloned form
an ydult smnatic cell is not eommect T

(1} Dolly waz born in the year 1998,
(2) Dolly died in the year 2003,

{31 Dolly waz borm at Scotland.

(4 Dally dicd due to lung disessc,
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e 3 e TEe TEE FEEE
(1) S W
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{3) T T T

(4) e T A

e, fogien, U, ¥ SEE e
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(3y A (4) FEEH
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(1) TEwEES
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(3) e

(4) v
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(1) S, e, T
(2) WU, o, PN (AT
(3) THYE, AR, FATTRA [ATEE)
(4) T, AT, FET

a7,

o0,

10,

{3} Rhizobium

First Malional Park cstabished in Indis is
{1) Kaziranga National Park

(2) Jim Corbett National Park

(31 Gir National Park

{4} Kanha Mational Park

The hio-forilieer wused w5 2
supplementary  foud for the cattle,

espeeinily for milking hovines is
(1) Azotobacter (2) Asospirillom

(4} Aznlla

The Central Institote
Horticulture is situated at

{1y Bikager (?) S0 Ganpanagar
(33 Jodhpur {4} Udaipur

of And

Against  which of the following
diseases has Govermment
decided to give Bivaleat ORY in place
of Trivalent 7

{1} Typhoid
{2} Diptheriz
(3) Paolin

(4) Mstaria

For populatizsation of Secicnoe &
Technology in  the State, the
Government has established Science
Centres and  Science Parks in
Rajosthan, Identify the correct places
where Science Parks have been
established so far:

{11 Jaipur, Jodhpur, Kota

(2} Jaipur, Bikener, Jhelarapatan
{Ihalawar)

{3 Jaipur, Mawalgwl, Thalneapatan
{Jhalawar)

. [4) Jaipur, Mawalgarh, Kota

of India *

P S
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102,

103.

In this question, a statement is
followad by two assumptions :
Statement : Nothing is beyond the
resch of a hand working person.
Assumptions: | A hard  working
' person ©an achieve
everything,

1. Thosze who do not
work hard cannot
achieve anything.

Then which of the answer is cormect 7
{1} Only Vis implied in the statement.
{2) Only I iz implied in the
statement.,
(3} Both I and U are implied in the
statement.
(4) Meither I noc 17 3s !ITIle.EI:I in the
starement.
The statement below s followed by
two srguments numbered 1 and 1L
Devide which of the arguments is a
strong argument and which is a 'weak
argument. Give answer.
Statement : Should wse of mobile
phone be banned while driving 7
Arguments: 1. Yes, most of the
time it cawses
accident,

Il. Mo, this can create
4 majot problem
for mobile users
I cTRErgency.

£1) Only srpument [ is strong,
{2} Only argument I is strong,
{3} Both [ and 11 are sirong,
{4) Meither [nor I is strong.

Stotements : 1. All fruits are trecs,
2. No flower is tres:
Conclusions 1 1. No flower is fruil.
IT.5ome trees are fruits.
(1) Oily conclusion | follows, ;
(2} Only conclusion 11 follows,
{3} Meither conclusion [ nor H follows,
{4) Both conclusions | and [} ﬁ}}t:uw. .
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P T AT
s ;4 Ay deee § A Ery
by i 0 |
vt s 1, S TR e E & e
= fErE T 9 |
11, = 1= e o wf BF
(1) At s @ et ¥ |
(2) e W 1L e
{3) 91 5L e
(4). =T 1o [ ST

g s A Pt w4 g EE ¥
(1) 21 (2) 23
(3} 25 4 27

=EE 1039, 2247, 3455, 4663, W
FFA TR :

(1; 5772 {2% 5871

{3) 5782 {4} 5881

e o T IR W A T
7Y, 26V, O3H, 124M, e

(1) 216G {Ez} 216H
3) 215G 4y 215H
e il .

1y Cat %7.; Cow

1) Gout 4 Pig

o “GYPSUM® W F daa W
“MaSPYU” feen AR ¥, “FATHER”
= e G § “REHTAE" fren = &,
g’rﬁ;&ﬂmma" %t Fe w0 § T

(1) DBYOEN {2) NDEYBOQ
{3) DBOEYN  (4) DBOYEN

A, B, C,D, E 3 F 0% qR@w 3 6 #ee
¥ 1 ol w0 s fewl W wen ¥
¥ | iR o iR e E A
A FSEEhamAsme D
=] = O wg%m‘kwqﬁm
A®IABE | o B W E

(@) D-

(iy ©
(3 F {4) A
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{3} 25

Answer the following @
Staterment 1 If he iz intellipent, he
will pass the NET examination.
Assumptions: | To pass, the NET
. examination he
st be jntelligent,
U Ille will pass the
NET examination.
{13 MNeither Lnor 11 is i:nplic-il,,
{2} Omly Assumption 11 1s implicit.
{31 Either § or I is implizit.
(4] Baoth 1and IT arc implicit.

In the given figure, total number of
tiangles arg

(1y 2 {2y 23
(4} 27
Poext term of the sequence 1038, 2247,
3455, 4663,.....-. 18 ;

{ty 5772 {2y 5371

(3) 5782 (4) SH81

The next term in the given sequence
7Y, 26V, 63R, 124M, ........ i8

{1y 2160 {2) 216H

(3 215G {4) 2154
Pick out the odd one

(1) - Cat (2) Cow

{3) Goat {4) Pig

U “GYPSUM™ i coded as
“MGAPYL™, “FATHER" is coded as
“RFHTAE”, then “BEYOND" will be
coded as : :

{1) DBYOEN
(3) DBOEYN

(2] NDEYBO
{4) DBOYEN

A, B, C, D, E and F are 6 members aof &
family. Number of males is oqual 1o
number of females, Family has one pair
of hushund-wife, A and E are sons of F,
and A is eider, D is mother of twa
children (one is boy and other is girl). B
is son of A. Then the nicce of E is

{1 C oy D

{3 F () A
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% (A), (B), (C) (1) # faficm feer
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(A)  (B) (C} (o
(1} (D () (8)
(3 () ) (A)
T 60 T ?hw H g T U
M 5 3R | o g e ) ;2
ﬁmﬁ.?ﬁﬁ:ﬁmﬁﬁw&w—ggﬁmﬁ
] TR g
(1) 175k (2) 225w
{3) 38.5 ¥ (4) 535w
&t wrel o gt e
5 (43
THERE:
Ltf e Lo
(1y 5 () 7
N 9 (4} 14
T (59 5 T 5 357 of g w5 sfwE
L .
ty 7 {2) 5
{3) 3 41
200 W=t F 4 oo of By wemEr e

WgEm e R E e T 40 | 7 e
=od 3w Wi fo S W o ais

15fA T wd T8 8ty
() 72 2} 800
(3 128 {41 90

3 femrlt X o v ow vl o sRoRm
XY e R0 st wm
Tt e X % i 2 T & siwd &
TEF 56% F | X WY FHOWT sw
A E

(1} 39,30
(3 42,33

(2) 41,32
4) 43,34

111.
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In the question a key figure marked
(X} is given, followed by four other
altermative figures maorked (A}, (B,
(C} and (D). The fipure which Fts
exactly iote figure (X0 t¢ form a
complete sgquare, is

X
(A) (B i
(1) (D) (2) (B)
(3) () (4) (A}

In & mixture of 6 litres, the matio of
milk and water is 5 : 3. In onder to
make this tatio 1 : 2, the guantity of
water (0 be added to the mixture iy

{1} 17.5 Hire {2y 22.5 litres
(3) 585 litees  {4) 52.5litres
The missing number in the given table is
[5 143
[10 & | &
Liz (12 ] 7
(1y 5 2y 7
(3 9 4 14

Which is the digit ac unit place of the
produst {54« 799 50 35Ty 9

(1 7 2} 5

{3 3. 4 1

200 bulbs are used 4 hours per day and
expenditure of 6 days is ¥ 40, Then
how many bulbs should be -used 3
bours per day so that cxpenditure of 15
daysis T 48 7

{2) 00

(1 72
{3} 128 (4) @0

Two students X and Y appeared at an
examination. X secured 9 marks more
than marks of Y and marks of X was

0% of the sum of their marks. The
marks obtained by X and Y arc

respectively
1y 39,30 {2) 41,32
(3) 42,33 (43 43,34
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117, wer wi = T T 15,000 F 2

ot =+ EIT o O w0
W AELT 6T T s A L
{1y 8% (2] 10%

3y 12% 4} T

118, u fire 5 w17 aﬁrlga&ﬁﬂ;ﬁ;

117. The difference of compound intercst
{znnually) and simple interest on an
amount of ¥ 15,000 for 2 vears oo the
same rite of interest is ¥ 96, The rate
of interest per anouwm is
E” B EE] 10%

1) 12%

118. A father distributes T 16,400 into two
fixed deposits for his two sons of age
17 and 18 years respectively. such that

friy Wt (119w 120) % =9 Tl

119, wadist & wffE e T & oad
2010-11 =y meFm & 2013-14 # fwrd
R = AR

(1) 2.22% (2) 2.22% %A
3 3.22%%

{4y 3.22% %l
120. 2010-11 = 71 § 2013-14 H

T w1 gt W (f 7ot 1) EU
% Frate Fedt T (R

(1} 129 2y 13l

(3) 134 T4y 176

G Tt o T T g e o sl their age of 20 years, both get the
LT = YT 5% T (i same wmeunt, I rate of compound
wer E, A 12 W F T et == interest is 5% per 2nnim (compounded
7 : snually), then how mush amount the
1) € &000 (23 ¥ 8,200 [ather deposits for his younger son ?
53% T B {4} ¥ 10,000 (1) T 8,000 (2) T3200
. {(3) %8400 (4) 710,000
W A 149 7 120 % . Refer the following table and pic-graphs for
forey el T et S ST I Cuestion Nos. 119 and 124 )
v & ae Pt Awtomohile Exports from Tndia
{ﬁT& # {in thiieands) .
: Type T00-11] 2011-12] 2002-13] 2013-14
rm T010-11) $011-12| 2012-13| 2013-14 Two 1250 | (367 | 1833 | 1320
Aol | 1250 17 73 | 1320 | wheekirs
Eor s RGE I:m lfr, : s Three 433 467 56l il
2 x wheslers
e 7i6 | 815 | 795 | 7dl “Cars FET I T - 7
e U At %23 TS B26 503 LMVYs #23 TG sgﬁ B3
LCVs o1z | a3 | inaa | 968
Gk I R R jicve | o13 | toa3 | tior | 1063 | -
k] g1F | w0z | Lol | 1043 Shares of vanious reglons in two wheeler
e A T Bt A i e e o e exports from ndia
102011 23204 010-2081 . 2013-114

Answer the following Questions (119 and 120

119, What is the percentage change in export
of automobiles excluding HCVs in
20013-14 as compared to 2010-11 2

(1} 2.22% increasc (2) 2.229% decrease
31 3220 incredse (4) 3.22% decrcase

120. How many more two wheclers (in
noarcst thousands) wens exported wo EL
n 2013-14 ‘a5 compared to 20010-11 7
(1} 129 (7} 131
(3} 134 4) 176
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- How many Gold Medals won by India
in the 12" South Asian Games held in

February 2016 7
(1) 200 {2} 1EE
{3) 156 (4 95

Who- among the following led the
movement for withdrawing *United
Kingdom from the Buropean Union

(1) Boris Johnson

(2} Mark Carney

(3% Gisorze Oshorne
{4} Jean-Clande Junker

Who captained the MWumbai Cricket
leam, which won the Ranji Traphy
Toumament 2015-16 %

{1} Surva Kumar Yadav

{2} Shreyas Iyer

{3) Rohit Sharma

(4) Aditya Tare

Which Indian State has been declared
a5 the first *Digital State’ of India 7

{1} Karnataks (2} Kerala
(3) Muharashira  (4) Goa

Haw muoch percentage of the total land
mass arca of India is in Rajacthun 7
1) 10.4% (2} 7.9%

(3) 13.5% (4 11.4%

How much of Thar Desert in India
falls in Rajasthan 7
(1) 40%
(3} B0

2) 60%
(4) 90%

Which country recently conferred ir
highest  civilian  honowr  *Amir
Amanullah Khan Award' w0 Prime
Minister Narendra Mad{ 7

(1) Saudi Arabia (2) Usrbekistan
{3} Iran (4) Afghanistan
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o wirerul s = e
(1) 20 {(2) 42
{3 23 (4 27

128,
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idemify the place, where the fivst:
wannupuma Bhandar” was inaugurated
by the Chief Minister of Rajasthan on
31* Oetober, 2015,
(1} Chuma

{3) Thagi

{7} Bhamboti
(43 Kotputsli

Rajasthan is the first state o implement

which eone aof the following Act to

redress public gricvances

(11 Transparency in ["ubkic Procureient
Acl ' :

{2) Guaranmced Delivery of [ublic
Services Act

i3)

{4}

Cood Governance Act
Right to Hearing Act

Govermment of Rajasthsn has set-up

Jecvan Dhara Bank in coflaboration

with  Nopwegizn Government [0

provide

(1} Blood lor Canuer patients

{i] Waner for Dresert areas

(3} Insuranes to Old persons

{4) Mother's Milk (o Infants

What is the official ‘motte” of Rio
2016 Pacalympic Games 7

(1] Anew watld

(2} Come and play

i3] Eguality to play

(4y Come walk together
The 'sentonee  incorporated  in the
‘Loge’ of Rejasthan tourism is

{1} Rangiio Rajasthan

{2y Jane Kya Dikh Jaye

{3} Rajasthan R Dil Dekho

(4y Datshniya Rajasthan

. Mow many sporls will be played

during Rio Paralympic Cames, 20167
(1) 20 (2) 42
3y 23 (4y 27
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134, oy o4 = AT W oar T fyer 1134, Lionsiler the iblim_-.riﬁ?g, statements about
AT T faEw :

134,

137,

13%.

139,

140.

fire :

A, toem o Frdear Tem & = s
= R (e oReR s

wiEeTsl @ PREw ot
FAF T HE

B. AT F 0T T 8000 wAIE @
T T T |

C. @1 % @l mEs weding f
FARIA T G a7 2,800
il ferviter Tema woe Sy |

D. FaEr 2 T 5 FHp S
iaRi i e TEEm |

T o W i A e §7

(1} Fam A TR

{2) FAABHATC

{3) HE A, CaeD

(4) &I A, BafkD

. TR 1 O St g R

WW?ﬁ-‘rﬁ frogmA fine
(13 = @
(3) mita A (4) T i

Rt 2Remt v Sfeamferg whims wo
2015 = HERT Ry o o

(1) W S e i, g
(2} ﬁwmmmw
(3} VT e Tefee, A

{4) I T R S, S
T i wdfm & hEi
Wﬁ#ﬁ': ’
(1) Feemmom - (2) e e
(3) TR 4 {4) TR s
Tt sfieliaw B@W, 2006 G T et

E?’

(1) 39 (2) 326

{31 306 (4) 296 _
Tl T G IR RIS A e T
T A W A E

(1} | e

Q) ZeR sueas

(3) o2

(4) Hiew 7974

358 i W, 2015 ¥ s S R
(1) 1w (2) S T e
(3) AR =F (4 18 "F

135.

136,

137,

138.

139,

idn,

A, The acheme provides tree LPG
connection o the women
belonging 1o the Below Poverly
Ling ( BPLY howseholds.

B. ¥ 8000 crore hus been earmarked
under the scheme.

C. The scheme provides a financial
support of T 2800 for cach 1.1G
connection to the BPL houwscholds.

B The scheme will hepefit 5 erorg
BPL families across the nation.

Which of the above statements are
correct 7

(1) Only A and B

{2) Only Band C

(1) OnlyA CandD

{4) Only A, B and 1>

Who is the first Dronacharys awardeg
of Rajusthan Srate 7
(1) Keran Singh
(3) CGopal Saini

frestigious Asian cup 2013 Table

(2¥ Ripudaman Singh
{4} Paramjeet Singh

Tennis championships was hosted at
(1} Sawai Mansingh Indeor Stadium,
(2) Mational Spotts Club of Indis, Mumbai
ES} Javeaharlal Nehr Stadium, Mew Delhi
Kuolkata,

Mewly elected Chainman of Rajasthan
]g ivcharan Mali

% Dhanraj Chowdhary

4; Ramavtar Jakhar :
How many events took place in Rio
EJ} 306 12} 324

3y 306 {4) 290

to circumnavigate the carth 7

(11 Solar Impulse-|

3

E‘i} Solar Tmpulse-4

In 35" National Garmes, 2015 Rajasthan won
2] 1 Gold Medal only

(3 3 Silver Medals

Jaipur
4) MNetajii Subhush Tndoor Stadium,
Dlmsj]:;m Assidciation is
Copal Sgini
Olympic Gatmes, 2016 7
Which is the first solar powersd aircraft
t2) Bolar mpulse-3
; Salar Tmpulse-2
(1} 10 Medals
(43 18 Medals
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?-I'ﬂ:['wl:‘iﬁﬂl".

E Tk

{1y (iy # (i)

(2) (i) 31 Gv)

(33 (i), (i) S i)
(4) (it} (i) 3 (iv)

T S A, W s T g
3w A A &, e §

(1) SR e

{2) TR S

(3) WY

(4) WEIEEEY

T T o ® S 6 =
X wgTeE | AT g € 7 A
ﬁww@ﬁmﬁmiﬂwaﬁm:
() Ctecbeafa

(iid L

(i) TereperETag

{iv}

142.

143,

k-8

{1} (i) =0 (i)

£2) (i) HET (D

(3) (D), (i) A (it
(&) (i), (i FT {iv)

144, P qd af=ri d @9 @ TRA
AR | e 7
{1) ok (2) TR
C A T {4y =
145, Pt § 9 w9 @ g giiEa 6 e 2
(1) T ger - feewt
(2) @G AE TR
(1) EAFERE - ARE
(4) =% =&t _ =g
(]

141.

142,

143.

144,

145.

in wlhich of the fillowing texts the list of
the sixteen preat states  (Sodusy
Mahujanapadas) of ancient Tnadie occar?

Select the comect amswer fom the
godde piven below |

{i) Arthashastea

{it) Anguttara Nikava

{iii} Dhigha Mikaya

{iv) Bhagavati Suia

Codes :

(1) (i) and (i)

{2) (i) and (iv)

£33 (i}, fit) and (iil)

(4} (i, (v and (iv)

The legend of Satyakam Jabal, which
challenges the stigma of being an
unenatricd mother, is mentioned in

{11 Chhandogya Upanishad

{2y Jabal Upanishad

(3) Kathopnishad

{4} Prashoopnistad

Which of the following Sanskrit works

" has taken up their theme from the

tvizhabbarata 7

Select the correct answer from the
cinde ghven below

{i) Maizhdhizacharia

(i1} Wiratarjuniyam

(iii} Sisupelavadha

(iv) Dasakumarachariia

Codes ¢

(1 (i) and (iif)

(2} fii) and {iit)

{3y ik (1i) and {ii}

() (i (i amd (iv) .
Which one of the following Sun
Temples is located in Patan, Gujarat 7

(1) Kopark (27 Modhera
{3) Martand {4) Dakshinark
Which one of the following pairs is not

comeelly matched 7

(1) RasivaSultan — Delhi

{3 Bahadur Shah - -Gujarat
{3) BazBahadur - Malws
{4} Chand Bibi Awadh



146.

147,

148.
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150,

oo
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() e 2) o)

{3} e (4) TE S
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(1) BHEmAm {2) ST
(3) SFIEAM (4) AT

ﬁnﬁﬁaﬁﬂﬁmﬂﬁaﬁﬂ#ﬁw'ﬂﬁ
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WA (R) -
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T S (R) A e |
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146.

147.

148,

149,

156,

31

Who among the following laid the
foundation of the Chala Empire in the
AL century A.[D. 7

(1} Vijayalaya (2) Krishnal
(3) Purantak (4} Rajraja Chola
The Persian translaticn of

Mahabharata, which was done in 16"
century is called

{1} Hamzanema (2) Alamgirnama
(3} Badshahnama ¢4) Razmanamia

Who among the following does not
belong to the Chisht order 7

(T} Eheikh Moinuddin

(23 Klwajs Quhibuddin Bakhitiar Kakij
(3} Sheikch Nizsmuddip Auolia

(4} Sheikh Abdul Jilani

Which one of the fallowing pairs is not
correctly imatched ?

{13 Ring Fence Policy — Warren

Hastings

(2} Suppression of = William

Thugges Bentinck

{3} Vemacular Press Act = Curzon
{4} Tlbert Bill - Ripon

Consider the following statements :

Asgertion (A} : Socio-religivus
movements of the 19" century
resulted in the modemization of
India.

Reason (R) @ Rationalism, scientific
temper and other such  ideas
“which  are - the basis  of
modemization weee at the core of
the socio-religious movements,

Select the correct answer from the

code given below :

Codes :

(1) (A}is true but (R) is [alsc.

(2} (R} is true but {A) s false,

{(3) Both (A) and (R} are true but (R} is
not the comect explanation of (A ).

(4) Both (A} and (R} are true and (R}
is the correct explanation af (A),
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